A £ 0l & AF & S

Al A

AT HEIED
B @2 U JET
el HE =R EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Rl =) 84,004,915 73,818,848 10,236,067
= 41,021,874
Jl 5,771,082
AltI 29,729,367
-l 7,532,592
25 2 JIEXE 84,006,581 73,770,514 10,236,067
= 41,018,874
) 5,771,082
AlH] 29,729,367
Tl 7,487,258
He=Xl 212,156 193,235 18,921
Jl 73,356
Al 112,665
Tl 26,135
=3 Ot8=9 484 29 146,711 135,036 11,675
Il 73,356
AltI 73,355
307 elztol & 146,711 135,036 11,675
Jl 73,356
Alt] 73,355
11 AMEISXAIEEXS 146,711 135,036 11,675
OAfet HE=8454 28 A2
146,711,000 146,711
Il 73,356
AlHI 73,355
Ao DI Z2 A g A SALR SXI==E(AlH]) 39,310 33,019 6,291
AlH] 39,310
307 @120l & 39,310 33,019 6,291
AlHI 39,310
11 AMEISXAIEEE 39,310 33,019 6,291
OAlet JIEZS8E A SAL SX=E
39,310,000& 39,310
AltI 39,310
GESEINIR=FS| 10,845 8,890 1,955
201 Ler23| 7,600 5,345 2,255
01 At2teltl 7,600 5,345 2,255
OWEEH A =2 & &I &
60,0002 *10H 600
O8Nz =d g MEsAAY 29
250,000& * 162 4,000
Od3s - 454 S Lok A&
3,000,000& 3,000
203 HR=H| 1,397 1,397
03 A= PR FAI| 1,397 1,397




A HAIED
B @2 U JET
el HE =R EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OWdXESAte 29
10,0002 *40Z *90% 360
OO S CHAl A e & X
1,152,000 *90% 1,037
301 LB NZ 1,848 2,148 A300
10 MBI SRRQRJIEAZ 1,848 1,848 0
O=XYe Az=eed FA
, 0002 x 1G22 x 128 1,848
HAZRISEZAl =4 4,790 5,790 21,000
201 L2 | 2,340 2,340 0
01 Ar22eltl 2,340 2,340 0
OWEZZAl Q1IN s X S8
2,340,000& 2,340
203 AR F&lY| 450 450
03 AMIRMZFXHRFXIH| 450 450
OUWHEZETAl HRFEX
500, 000& *90% 450
301 LetENEZ 2,000 3,000 21,000
11 HAAHIXIE S 2,000 3,000 A1,000
OUAZISEAl F=RIEHE &=
2,000,000& 2,000
HEEH 32 s Kd 10,500 10,500
307 gI2Hol ™ 10,500 10,500
02 QIZHAAAIHE X 10,500 10,500
OOl&EH & BUEE Xa
10,500,000& 10,500
JIEE=R 16,495,415 13,128,946 3,366,469
= 4,952,384
| 5,697,726
Alt] 4,044,977
sl 1,800,328
IIEHH 29 684,680 683,880 800
J| 342,340
Al 171,170
-4l 171,170
307 212+01 A 684,680 683,880 800
| 342,340
Al 171,170
=4l 171,170
05 2IZ2tRES 684,680 683,880 800
OJI=4H 22 X3 684,680,000 684,680
| 342,340
AltI 171,170
=t 171,170




AT HEIED
BH: 8% U I
ghel: JIE=EX EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
JIEE4IH OldHl X 45,000 45,000
307 elztol & 45,000 45,000
05 2IHRIE S 45,000 45,000
OJI=4E 0l&Hl X2 45,000,000 45,000
JIEHE SAHAL SAIEQIE X2 4,000 4,600 2600
AltI 4,000
307 glztol & 4,000 4,600 A600
AlHI 4,000
05 git?(& = 4,000 4,600 A600
OJIEdIE SA SXEE X
4,000,000 4,000
Al 4,000
FRAVIIIEXEA 168,750 168,750 0
= 84,375
AlHI 84,375
307 212+01& 168,750 168,750 0
= 84,375
AltI 84,375
05 2I2tAE = 168,750 168,750 0
OJrEggda Na 168,750,000 168,750
= 84,375
Albl 84,375
SSS0LIsH 29 386,358 331,164 55,194
Jl 193,179
AlHI 135,225
Tl 57,954
307 elztol & 386,358 331,164 55,194
Il 193,179
Al 135,225
Tl 57,954
05 2I2tRAE = 386,358 331,164 55,194
O8&=F0tLl=H K& 386,358,000& 386,358
Jl 193,179
Albl 135,225
- 57,954
SS=0L=H =4 55,000 0 55,000
401 Al HIZL 201 45,000 45,000
01 Al&H| 45,000 45,000
OBSSoiLksE 21222
45,000,000& 45,000
405 AtatE = 10,000 10,000
01 IR ESFSHI 10,000 10,000




A H-dIEL
B @g o JEN
&l JIE=sX (SH &)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
OZESO0ILISE I 7
10,000,000 10,000
olss X 4,042,401 2,464,345 1,578,056
= 2,829,681
AlHI 606,360
2| 606,360
308 AXIHHSOIA 4,042,401 2,464,345 1,578,056
= 2,829,681
AlH] 606, 360
2| 606,360
13 2|2 SHUSIZE A ERAEAIZHI 4,042,401 2,464,345 1,578,056
Oooolss KA 4,042 ,401,000& 4,042,401
= 2,829,681
AlHI 606,360
2| 606,360
CI23IE E43H AFg| 461,360 461,360 0
J| 230,679
Al 230,681
307 21Z2H0| & 461,360 461,360 0
J| 230,679
AlH] 230,681
05 OIZt2|EZ2 461,360 461,360 0
OU23tE 2 MlA
257,810,000 257,810
J| 128,905
AlH] 128,905
OURSIIHE Atdll2el X
37,018,000& 37,018
J| 18,509
Al 18,509
OLE3ts oIsdItEstE =4
35,031,000 35,031
J| 17,515
AlHI 17,516
OCRsE R4 dojge X
78,688,000& 78,688
J| 39,344
Al 39,344
OZ=0|2X% SHIAMHIA XA
32,813,000 32,813
J| 16,406
AlH] 16,407
OZ&0|2X}F d&k25 X3
20,000,000& 20,000
J| 10,000




A HAIED
Ha: 85 U IIFK
@ JIE=EX EEED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
| Al 10,000
CE22tE s 6,000 6,000 0
307 2I2+0l™ 6,000 6,000
05 QIZtIEr 2 6,000 6,000
OCh23td ZE Al XA
6,000,000& 6,000
Ct23t olall s& 16,000 16,000 0
307 212+01 ™ 16,000 16,000
02 QIZHBAAIEE R 6,000 6,000
otzahts s=2FME (HEedts S)
6,000,000& 6,000
05 2IZteEe g 10,000 10,000 0
OO0tsCtEst ZAE ItA S
10,000,000 10,000
HAERR Ors2sH| XA 48,000 38,400 9,600
= 24,000
Altl 24,000
301 LPENS 48,000 38,400 9,600
= 24,000
AlHI 24,000
01 AISIBEX 2GS (2 UETME) 48,000 38,400 9,600
OHAERD OISUSH U2
48,000,000& 48,000
= 24,000
Alt] 24,000
Aot o|=2A 2,572,000 2,572,000 0
= 1,897,328
Altl 337,336
=t 337,336
308 AXIEHMSOIN 2,572,000 2,572,000 0
= 1,897,328
Altl 337,336
sl 337,336
13 BI| 2 SHICHEHE &&= ALY 2,572,000 2,572,000 0
Ooxotg ol2a 2,572,000,000& 2,572,000
= 1,897,328
Alt] 337,336
sl 337,336
SEMOoIZ= SXES 535,000 535,000 0
Altl 535,000
301 LPBNZ 535,000 535,000 0
Alt] 535,000
02 MBI 2EHES(FHUAHS, NSTHA) 535,000 535,000 0




SN IS
B @g o JEN
&el: JIEEX EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OSMol= BLXES 535,000,000 535,000
AlHI 535,000
SMAE= 500,810 500,000 810
201 =3 810 0 810
01 At2t2ltl 810 0 810
OE4LH AN S22 MH
300, 0002 32| +90% 810
301 EtE N = 500,000 500,000
02 A2 XSG (FHAAHS, NLWE) 500,000 500,000
O= E&tKIE= 500,000,000& 500,000
SHREEIIES 258l S XN 6,025,200 4,447,000 1,578,200
Jl 4,820,160
AltI 1,205,040
301 22N = 6,025,200 4,447,000 1,578,200
Jl 4,820,160
AltI 1,205,040
01 AR 2EHSFS(RNEERTHE) 6,025,200 4,447,000 1,578,200
OsR2I1E It =4l & X
6,025,200,000& 6,025,200
Jl 4,820,160
Al 1,205,040
HFA4d BRI Ots2=sdl N 37,790 28,425 9,365
Jl 30,232
AlHI 7,558
301 22N 37,790 28,425 9,365
7l 30,232
AltI 7,558
01 AR 2EHSFS(RNEXRTH) 37,790 28,425 9,365
OFad et22 Xg A&
37,790,000 37,790
Jl 30,232
Alt] 7,558
SRS Mt A 226,700 198,290 28,410
AlHI 226,700
301 EtE NS 226,700 198,290 28,410
AlHI 226,700
02 ARSI 2E AT S(FIANS, XLETHE) 226,700 198,290 28,410
Os0d wEHl, =5y =I83H|
226,700,000 226,700
AlH] 226,700
S F=HAA 500 1,700 1,200
Al 500
301 LEetE N = 500 1,700 21,200




M OIS
DD 28 Y IIENE

= = [uinl
e JIE=X (CH9: &S1)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 500
2 AN BEA>HS(HUYHS, NYTHA) 500 1,700 21,200
OFXtE =AHXA 500,000 500
Altl 500
MASH(2AESAIE) 130,000 130,000 0
= 117,000
Al 13,000
301 LPENF 130,000 130,000 0
= 117,000
Altl 13,000
01 AISIBE X262 (2 LEZME) 130,000 130,000 0
OEXNESAIE MA=H
130,000,000& 130,000
= 117,000
Altl 13,000
SAESAE 29 385,437 383,303 2,134
Altl 385,437
307 QIZ2t01 A 385,437 383,303 2,134
Al 385,437
10 Al S XA EEHE2IHIE X 385,437 383,303 2,134
ORXESAIE 29| 384,937,000 384,937
Altl 384,937
ORXNESAIE SALL SXIEQE =
500,000& 500
Altl 500
PUESAIE EAX ANEE==2 X 35,000 35,000 0
Altl 35,000
301 LetEHZ 35,000 35,000 0
Al 35,000
2 AN BEA>HS(HUHS, NYHA) 35,000 35,000 0
OZXESAE €L NHEEaZ X3
35,000,000 35,000
Albl 35,000
SHREIIE Al AT AEXIE XA 28,500 28,500 0
| 14,250
Altl 14,250
307 2Iz2+0l™ 28,500 28,500 0
| 14,250
Altl 14,250
11 Al SXAMEE R 28,500 28,500 0
AT AEXIE X 28,500,000 28,500
| 14,250
Altl 14,250




AT HEIED
M 25 9 N
ghel: JIE=EX EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SRS SAAE HEgE208 XA 2,900 2,900 0
AlHI 2,900
307 21201 & 2,900 2,900 0
Altl 2,900
1 ABIZXIAEE 2,900 2,900 0
OBt=E2IIE SXAS H2E2IY N
2,900,000 2,900
AlHI 2,900
SUESAE OtoISSAMHIA X 78,651 78,651 0
) 55,056
Alt] 23,5%
307 @120l & 78,651 78,651 0
Il 55,056
AlHI 23,595
10 Al SXAEEE 22X 78,651 78,651 0
OZXNESAIE Ol0IESSAMHIA XIR
78,651,000 78,651
Jl 55,056
AltI 23,59
SIRZAIE Al2ISRL3 ezl S X2 11,830 11,830 0
Il 11,830
301 22N = 11,830 11,830 0
Jl 11,830
10 M=SRREES 11,830 11,830 0
OstFRAE ARIERR3 2128l S A& 11,830
kal:] 800,000& x1& 128 9,600
7l 9,600
/=l 310,000&*1 310
Il 310
wSH| 3,000& x1& 240 720
Jl 720
22 u=H| 600,000 x12H+23] 1,200
Jl 1,200
SIRZAIE AIRISRRF S4| 1,848 1,848 0
301 EtE NS 1,848 1,848
0 AR=R22as 1,848 1,848
OBtR2AE A2=S223 SAHl X3
7,000 x1H+22x 122 1,848
OlOI==20| A& H &l K& 5,700 0 5,700
AltI 2,850
-l 2,850
307 @12t01 & 5,700 0 5,700
Altl 2,850




AT HEIED
B @g o JEN
ghel: JIE=EX EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-l 2,850
11 AMEISXAEEXS 5,700 0 5,700
OOI0I==20] HZH&H| K&
5,700,000& 5,700
Albl 2,850
Tl 2,850
g - =20t F4I18t =4 67,299,010 60,448,333 6,850,677
= 36,066,490
Altl 25,571,725
el 5,660,795
gdR0tE=2 K& 17,432,530 21,449,933 A4,017,403
= 13,074,397
AltI 3,060,693
-l 1,307,440
308 AHAIEHMSOIE 17,432,530 21,449,933 4,017,403
= 13,074,397
AlHI 3,050,693
Tl 1,307,440
18 SIS0t HAS A 17,432,530 21,449,933 A4,017,403
Ogrot2sz X2 17,432,530,000& 17,432,530
= 13,074,397
AlHI 3,050,693
Tl 1,307,440
FeltdE 258 X 11,260,434 11,260,434 0
AltI 11,260,434
308 XXM SOIA 11,260,434 11,260,434 0
AlHI 11,260,434
183 SIS U B XA AIE 11,260,434 11,260,434 0
O=cltd 252 K&
11,260,434,0002 11,260,434
Al 11,260,434
JZEEZ XNE Oel0ld 2H3-5M RE2REEsE X 1,438,508 1,438,508 0
Al 1,438,508
308 AXIMSO0IA 1,438,508 1,438,508 0
AlHI 1,438,508
18 S [2S0tHer 34 A A A 1,438,508 1,438,508 0
OJI225g A& Helold 2354 227
gE2ss X2 1,438,508,000& 1,438,508
AlHI 1,438,508
IS AR (001Z 010180tS) 799,439 1,164,227 A364,788
= 599,579
AlHI 139,902
Tl 59,958




AT HEIED
B @g o JEN
el & =0 4018 x4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 799,439 1,164,227 A364,788
= 599,579
Albl 139,902
Tl 59,958
01 AR 2EHSHS(RNEXRTHE) 799,439 1,164,227 A364,788
OINFYE4LY X (K0T 0I0IS0HS)
799,439,000 799,439
= 599,579
Altl 139,902
Tl 59,958
2250 (o) X 21,079,273 10,834,159 10,245,114
= 15,809,4%4
AlHI 3,688,873
Tl 1,580,946
301 22N = 21,079,273 10,834,159 10,245,114
= 15,809,454
AlHI 3,688,873
-l 1,580,946
01 Al EE A S(FRDEXA) 21,079,273 10,834,159 10,245,114
O=230{(Z0t4+Y) X2
21,079,273,000& 21,079,273
= 15,800,454
AltI 3,688,873
Tl 1,580,946
AMZHESAEIA HS K& 272,172 84,000 188,172
= 136,086
AltI 95,260
Tl 40,826
308 AHAIEMSOIE 272,172 84,000 188,172
= 136,086
AlHI 95,260
Tl 40,826
18 SIS0t HAS A 272,172 84,000 188,172
OAZNEFSAEIA MS K&
272,172,000& 272,172
= 136,086
AlHI 95,260
Tl 40,826
S 365 EelAlZHMl Olold 28 XE 163,096 0 163,096
AltI 153,096
307 elztol & 153,096 0 153,096
AlHI 153,096
10 AlISXAZEE 22X 153,096 0 153,096




AT HEIED
B @g o JEN
el & =0 4018 x4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O 365 ZRAA 0RI01E =29 A
153,096,000& 153,096
AlHI 153,096
O2l01E WMw-Hl K& 93,749 79,950 13,799
= 56,249
AltI 26,250
Tl 11,250
307 212+01& 93,749 79,950 13,799
= 56,249
AltI 26,250
-l 11,250
10 AlRISXAZEE 22X 93,749 79,950 13,799
O0Eold M-l X&
93,749,000 93,749
= 56,249
AltI 26,250
Tl 11,250
Oeloly 2SI (Xe2dl) 4,800 4,800 0
= 2,880
AltI 1,344
Tl 576
307 @20l & 4,800 4,800 0
= 2,880
AlHI 1,344
Tl 576
10 Al SXAEEHE2EHI2x 4,800 4,800 0
OBOHOIES01RI01E SHXIA(H2HH)
4,800,000 4,800
= 2,880
AlHI 1,344
Tl 576
olAd| XI& olelold Xt&=ghl A3 21,000 21,000 0
AltI 21,000
307 elztol & 21,000 21,000 0
AlHI 21,000
10 Al SXAEEE 22X 21,000 21,000 0
OQIZH| [ Of2I0I1F Xrzr2eyl X
21,000,000 21,000
Al 21,000
Oelold sdsis & Sat&AEl A3 76,850 74,630 2,220
Altl 76,850
307 elztol & 76,850 74,630 2,220
AltI 76,850
11 AMEISXAEEES 76,850 74,630 2,220




SN OIS
Do 28 Y IIEKE
el & =0 4018 x4 EER=E)
RA - BB - SA(BH) - MRAES ofl &t G o HIDEZ
OOZI0IT #&ats o 2aAM| X
76,850,0002 76,850
Albl 76,850
IIRESE X 0RI0IF X2l X 45,000 72,000 £27,000
307 212H01 45,000 72,000 227,000
REE N NEEEEETIEES 45,000 72,000 £27,000
OJIZEKE X 0201 X2l X
2 45,000,0002! 45,000
ORIOIRIOIE B2lA2 MHIA XIS 800 800 0
Albl 800
307 212H01 800 800 0
Albl 800
11 AFBI S TIAtR 2 800 800 0
OORIOIZIOIE B2AZ AHIA X
800,0002! 800
Albl 800
RSS2 N 0RI0IF Zel 2121l X 134,662 34,662 0
Albl 134,662
307 212H01 134,662 134,662 0
Albl 134,662
R EENNEEEEETIEES 134,662 134,662 0
OJIZESE X 020/ Z2I” ol21t|
X2 134,662, 0002 134,662
Albl 134,662
HOHOIE 2012101 DA X2 4,800 4,800 0
Albl 2,400
2| 2,400
307 212H01 4,800 4,800 0
Albl 2,400
2| 2,400
T EENEEES 4,800 4,800 0
OFOHOFESO0{RI01T XHZFIIAH 2124H| X2
4,800,000 4,800
Albl 2,400
2| 2,400
ZOHOIE20{2101E YR0F AHFE| 2 X2 820 820 0
Al 820
307 212H01 820 820 0
Albl 820
e NEEEEETIEES 820 820 0
OFHOIS0RI01T SR HHHT 2
X2 820,000 820
Albl 820
SSOtEH(1I2HE Ol 2 X2 At 212,850 212,850 0




2A:
X XH -
o e

=aak

SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 212,850
307 212+01™ 212,850 212,850 0
Altl 212,850
10 AISIS XA EEE2IHIE X 212,850 212,850 0
OZHote(12J40lat) 29| X
212,850,000& 212,850
Altl 212,850
oglold zsay s =2+4alHl X 479,160 396,000 83,160
Altl 335,412
sl 143,748
307 212+01™ 479,160 396,000 83,160
Altl 335,412
sl 143,748
10 Al S XA EEHE2IHIE X 479,160 396,000 83,160
OOIZI0IZ Zs2Y S 22| N
479,160,000 479,160
Albl 335,412
=4l 143,748
=2380eold XIH 764,075 764,075 0
Altl 672,386
sl 91,689
307 212+01 A 764,075 764,075 0
Altl 672,386
sl 91,689
10 Al S XA EEER2IHIE X 764,075 764,075 0
O=2380elold X 764,075,000& 764,075
Altl 672,386
=t 91,689
S3EHE0lE X2l ol XI& 64,800 61,200 3,600
Al 64,800
307 212+01™ 64,800 61,200 3,600
Altl 64,800
10 AlSISXAIEHE2ZHIEX 64,800 61,200 3,600
O3380el0ld =& o2d| X
64,800,000 64,800
Altl 64,800
SERUWAR AL XA 7,265,129 7,215,129 50,000
= 4,329,077
Albl 2,020,235
=4l 915,817
307 QIZ2t01 A 7,265,129 7,215,129 50,000
= 4,329,077
Altl 2,020,235




2A:
PSR
ool

SA - ZE . BR() - HRAR - BES of v G o HIDE2
-l 915,817
10 Al SXAZEE 22X 7,265,129 7,215,129 50,000
OOZI0IE SAHAF 2148] X1
7,215,129,000& 7,215,129
= 4,329,077
AltI 2,020,235
-l 865,817
OEEXNE Helold 21l XI#
50,000,000 50,000
BN HLHME X (EXWARIZH]) 1,271,2% 1,271,296 0
= 762,778
AlHI 365,963
el 152,555
307 @I2t01 & 1,271,2% 1,271,296 0
= 762,778
AltI 365,963
Tl 162,555
10 AlRISXAIZEHE 22X 1,271,2% 1,271,296 0
OO0RI0IE ERWAHHAZNEEE) QI
A& 1,271,296,000& 1,271,2%
= 762,778
AltI 365,963
-l 162,555
SN HRHME X (2LEZMEH]) 2,154,900 2,154,900 0
= 1,292,940
AltI 603,372
-l 258,588
307 gl2to| & 2,154,900 2,154,900 0
= 1,292,940
AlHI 603,372
Tl 258,588
10 Al SXAAEEHE 22X 2,154,900 2,154,900 0
OOlel0lE WA= ReZoiddl X3
2,154,900,000& 2,154,900
= 1,292,940
AlH] 603,372
Tl 258,588
eld] N3 0el0ld 2FuAl S+ A2 23,400 24,840 21,440
AlHI 23,400
307 glztol & 23,400 24,840 A1,440
AlH] 23,400
1 AMISXAIEEX 23,400 24,840 A1,440
oozl XI& 0glolE EsuwA SX=E
A& 23,400,000& 23,400




2A: HAIE
Ha: 85 Y IIFA
=t & - =0t FEII8 &4 (EEEE))
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
| Al 23,400
JIAExg K& Helold EsuAt SX==¢ I 1,104,000 1,301,400 A197,400
Al 1,104,000
307 212+01™ 1,104,000 1,301,400 A197,400
AlHI 1,104,000
11 ASI=SXAIEE X 1,104,000 1,301,400 A197,400
OJI1ZE=EZ K& K0l ESWA =X
=g X 1,104,000,000& 1,104,000
AltI 1,104,000
JIAEERE X2 HE0ld EFWAF BII2s5+E K& 67,080 73,000 25,920
Al 67,080
307 gI2tol ™ 67,080 73,000 25,920
Altl 67,080
" ASI=XAIEEE 67,080 73,000 A5,920
OJIEEE R 0f201F 2SDAH B
22 XJ 67,080,000 67,080
AlHI 67,080
ZOHOIMZUHE 0| EsWAL S22 X 15,600 18,000 A2,400
AltI 15,600
307 gI2tol ™ 15,600 18,000 A2,400
Al 15,600
11 Al SXAMEES 15,600 18,000 A2,400
OBMWOIHSOZ0IT BRIA SH+224
g XA 15,600,000 15,600
AltI 15,600
ZOOIEZ02I0IE XIZAt 2REINAH] RI& 3,600 3,600 0
AlHI 3,600
307 QIZ2t01 A 3,600 3,600 0
Al 3,600
11 AL =SXAMEES 3,600 3,600 0
OXOOIEZ0EI0IE XIZA 2REHA
gl XI& 3,600,000& 3,600
Al 3,600
FRILIHEH 29 6,100 6,100 0
= 3,050
AltI 2,135
sl 915
301 LPENSZ 6,100 6,100 0
= 3,050
Al 2,135
-4l 915
11 HALAHIXIEZ 6,100 6,100 0
ORRZLIHEH 29 6, 100,000& 6,100
= 3,050




A o&IED
M 25 9 A
el & =0 4018 x4 EER=E)
SA - A - S9I(E) - HIRAY - BES ol &t G o HIDE2
AlHI 2,135
-4l 915
oglold X 298,320 230,320 68,000
201 L= 5,000 17,000 A12,000
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